
Use the given information to name the pair of lines that must be parallel.  Justify your reasoning with a theorem or postulate.  If there are no such segments, write none. 
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3-3 Proving Lines Parallel Part1 (continued) i

In each exercise, some information is given. Name the lines (if any)
that must be parallel. If there are no such lines, write none.

7. L1=/L8 j P

8. 4= 16 A

9. £10= 27 4s

10. 723 + m24 = 180 !
1. £5= 3

12. £6= 27 Y
18, 21=/3

4. L1= 4

15, £2=/5
16. £3=/5
17. £4is supplementary to £5.

i

Example 2
a. Find the value of x
that makes AE || BF.

b. If4E | BF, find the value
of y that makes AC || DF.

Solution
a. If LCAE = £CBF, b. If LCAE is supplementary to
then ZE || BF. L AEF, then AC | DF.
‘ Sx+1B3=6e+1 (5x + 13) + (8 + 3) = 180
L Sx+12 =6 5(12) + 13+ 8 +3
12=x 8 + 76
| 8
y=13

Find the value of x that makes j || k.

i 18, i 19. 20.
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